ERRIRIZERAR A T] BTN —ETRFEER
HEHEERER se-—reaF=A=t—A145%
—EERE —EETOF
B 3 FHE T FHE T
BREERCAESRE
Fx %4 A1 A 2,197 14,317
FUATHEBEELAE
B 75 i 25 8 190 =
e 1,247 1,505
MEKA 5 (932) (282)
TEEEEE RS 5,7 (9) =
R HR B Mo I BR M SE 7 228 133
LEESEHA 2L 2,921 15,673
AT ERFR ~ e K H b U BR 508 2,555 826
FEEAHITREMN (971) -
2 5 W R FUR 3,828 861
B 5 RENERITRD (110) (611)
HMENERRAREFAGERD (1,270) (1,241)
KHAR® € & &R (317) (2,709)
KEEEZRS 6,636 12,799
EfREBFEH (1,194) (3,112)
2R E (10,500) (39,298)
REEXB2HS ML FHE (5,058) (29,611)
REEXK2HEERE
BEBRTEE 15 (827) (2,317)
B EEEEEMSREA 61 =
2 UWF B 932 282
EERBEHFEIRL 4,753 1,263
BEEBZHESRA/ (RL) F8E 4,919 (772)
MEXKHERE
EENEIES] (190) -
BT A FTIS 5K IE - 25,200
BTG S - (5,072)
MEEBZBRESRA (Rd) F8E (190) 20,128
HERREEEYBL FE (329) (10,255)
FYREREBFEEFEEY 46,929 57,184
FRESTRESZEEY 46,600 46,929
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